[bookmark: _GoBack]Home Work - Chapter 13			Due: 01 April 2014
Simple Linear Regression
Question 1: 
Cost accountants often estimate overhead based on the level of production. At the Standard Knitting Co., they have collected information on overhead expenses and units of produced at different plants, and want to estimate a regression equation to predict future overhead.
	Overhead
	191
	170
	272
	155
	280
	173
	234
	116
	153
	178

	Units
	40
	42
	53
	35
	56
	39
	48
	30
	37
	40



a. Develop a scatter plot for this data and describe what, if any relationship exists.
b. Compute the correlation coefficient. Test to determine whether the correlation is significant at 5% level.
c. Compute the regression equation and interpret the regression coefficients. 
d. Test to determine whether the true value of the slope is equal zero using 1% level of significance.
e. Use the F test to test the hypothesis in part d, using 10% level of significance.
f. Find the value of the coefficient of determination and interpret it. 
g. Construct a 90% confidence interval for the true value of the slope.
h. Construct a 95% predication interval estimate for individual value of overhead when units produced equals 50

Question 2:  


 In fitting a least squares line to n = 22 data points, suppose you computed the quantities as:        SSxx = 25	  SSyy = 17	SSxy = 20 ,    ,   	
a) Find the least squares line. b) Calculate SSE. c) Calculate S.E of estimate d) Calculate the coefficient of determination and interpret its value? e) Find a 95% confidence interval for the mean value of y when x = 1.f) Find a 95% prediction interval for y when x = 1. 

Question 3:  





Your are given the following information for the variables Y and X: n=8, , , , , 
a. Compute the correlation coefficient. Test to determine whether the correlation is significant at 5% level.
b. Compute the regression equation and interpret the regression coefficients. 
c. Test to determine whether the true value of the slope is equal zero using 5% level of significance.
d. Find the value of the coefficient of determination and interpret it. 
e. Construct a 90% confidence interval for the true value of the slope.
f. Construct a 95% confidence interval for average value of y if x=100.

Question 4
Different graphs for the residuals are shown below after fitting the simple linear regression model. State the assumptions and use these graphs to examine the assumptions.
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